
Time 2 hrs.

Proficiency Test, 2o^22-2o^23

Class Vlll

Roll No

M. M. 100

Note : i)

ii)

Method of Answering the Ouestion :-

Darken the circle with sketch pen.

abcdoooo

English

Read the following passage carefully and answer the questions that follow :

lnformation technology and library services are two faces of the same coin. The

library and information services play a dominant role in fulfilling the informational,
educational and recreational necessities of society. Library is an instrument of
social changes. For a long time, libraries have been linked with literacy and

books, and in the same tone, the librarian has been considered the keeper of
books. ln concurrence with changes in society, the concept of library has also

expanded. Now it is a multimedia center and place for learning material not only
for the literate for the but also for the illiterates.

ln villages, mostly the young and the old use libraries ard the middle aged make

little use of these libraries. They need job related information to update their skills

and knowledge. The services of a retired teacher or a retired employee as a
librarian in that hamlet can be availed. A person residing in the same hamlet is

more useful as he has inherent advantages than an outsider for library work. lt
is because the library has to function in the evening hours.

Library services are to be extended for TV and internet operations also. lnformation
technology, lnternet and e-eommerce have great scope in catering to public

needs. However, we need to be pragmatic in our approach.in providing electronic
access to information in rural areas. Availability, affordability, accessibility and

sustainability of the service should also be kept in view. Once a common service
place is marked, the !T based services can conveniently be started. lt is hoped

that the state and central government will give top priority to this minimum
facility for spread of education. lt is true that library is an effective centre of
education which is the key to individual achievement and national strength.
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Answer the following questions :

1. lnformation technology and _ are two faces of the same coin.

a) library services b) books

c) science d) satellite

2. Who. make little use of library in a rural set up ?

a) young b) old 'c) middle aged d) woman

3. What type of information villagers need ?

a) politics related b) agriculture related

c) job related d) All of them

4. Library is. an instrument of

a) Social evils b) social change

. c) education backwardness d) political change

5. Find the word frorn the passage which means 'village'.

a) hamlet b) pragmatic c) potential d) earmark

6. Find the antonym of 'little' '

a) pararnount b) potential c) dominant d) huge

7. Two and two four.

a) makes b) make c) made d) will make

8. The patient ... ...... before the doctor came.

a) had died .' b) has died c) died d) has been dying

9. America is ... than lndia.'

a) more richer b) richer c) most richer d) richest

10. What's the opposite of 'more' ?

al few b) less c) a lot d) many

Set II Vlll - Proficiency Test - (21



tr
1 1. Choose the correct word for 'calm'.

a) quiet b) stormy c) windy d) quick

12. Copper is.... .... useful metal.

a) an b) the c) a d) no article

13. She is fond ... reading story books.

a) in b) for c) of d) to

a) of b) from c) for d) in

15. A person who speaks more than one language

a) Philanthropist b) Polyglot c) Philogynist d) Calligrapher

16. A disease which attacks rnany people in a particular area in one time.

a) Epidemic b) Pandemic c) sardonic d) Academic

17. Choose the correctly spelt word :

a) Calender b) Calendar c) Celerider d) Catandar

18. Which of the following words is an example of adverb ?

a) happy b) oh ! c) very d) table

19. Every citizen of USA has a fundamental . ..... to education

a) write b) rite c) wright d) right

2C. Which word rhymes.with 'Pen' ?

a) hen b) ton c) fan d) hot

21. Choose the correctly spelt word :

a) Grammar b) Grammer c) Gremmar d) Gramer

22. 'Don't pluck flowers'. This is a / an.. . kind of sentence.' 
a) Dectarative b) tmperative c) lnterrogative d) Exclamatory
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23. Choose the odd one out :

a) on b) at

24. He knows me. (Change into passive voice)

a) I was known bY him

c) I am knows to him

25. Do you play carrom ? (Change into passive voice)

a) ls carrom played by you Z b) Are carrom played by you ?

c) Did carrom played by you ? d) Was carrom ptayed by you ?

26. Grandfather said, ,,The sun is a big ba* of fire". (change into indirect speech)

a) Grandfather said that the sun was a big ball of fire'

b) Grandfather asked that the sun was a big ball of fire'

' c) Grandfather asked that the sun is a big ball of fire'

d) Grandfather said that the sun is a big ball of fire'

27. They said, ,,Hurrah ! We have won,, {Change into indirect speech)

a) They exclaimed with joy that we had won' '

b) They exclaimed with wonder that we had won

c) They exclaimed with sorrow that they had won'

d) They exclaimed with joy that they had won'

28. Which word is not a noun ?

a) advice b) lndia c) Crowd d) advise

29. The child clings ":"""" his mother'

a) to b) with c) of

30. He had "" his lunch before his mother came'

a) ate b) eating c) eat d) eaten

c) or

b) I am known bY him

d) I am known to him

d) in

d) from
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Maths

31. Find the varue d +2 
+ * ?

3 -8---: * d EFT rtt;T arc qit ?12 120

4 4 -15 -24a) _1s b) G ct 4 d) 1440

92. There can be ... rational numbers between any two rational numbers.

A qft+q rfqrs+ + +e . qfitq ffi 6 v+* t :

a) zero (vga) b) onlY one (+{m qs')

c) infinite leriw) d) None of these (f-r{ + st{ ftT)

33. Fill in the blank : I x 9, x ........ E 1 ?

fr+n reTrq +'r 1fr +,'(i , 1x i x ........ = 1

10 -21 -10 21a) A b) 10 cl O olrO

34. Findthevarueot,s (#) (#)

5 r- 6) r23)
63 - [t) - [A] =nI rtFt nrn st ?

-46 .1 23a) i=* b) o 
") 

4og t63

35. Find the mode of the data : 4,4,,4,4,5, 5, 3, 3, 3, 5, 6, 6, 8, 10, 2,2,2
SIRFIC eIFFgT tF.r {q6S' f,ltt tFli :

' a) 2 b) 8 b) 4 d)zero
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36.

37.

Find the range for the data : 32, 41 , 28, 54, 35'

sqnffiT @ EFT IRRT rrfr 6t :

a) 31 b) 13 cl 21

The mean of first 1O odd numbers is :

gelq lo'frq,q +iqr3r} sl qFrT Erfr 6t t

a) 11 b) 10 c) 17

lnsert '(', ' :' or '>' : 2'7 x 1ol'z n 1 '5 x 1OB

Bqtf,d Ffr fT€ s'r lrdrr st :

d) None of these (qq{ + st{ ftT)

26, 23,33, 38, 40

dl 12

dl 2

5.5d)

38.

39. Find the value of (8o + 30)

1
(80 + 30) x lx 

EFt III"T

21a) 121 bt 1u

40. 
't [2tf = 4', then find x ?

qfE lrtf = +' + t x EFt q6 a;6 5{ |

1x 
121

f,rfr s't ?

2
d) rr

1

") 11

a) 7 Orl c) 6

b)0
d)1

41. From the sum of 4xy2 + 3xy and 2xy - Sxy subtract 6xy' - 2xY

4xy' + 3xy iFr 2xy - S'ty + +r { + 6xy' - 2xY +t qarsfr

a) l2xYz - lOxY

c) ZxY" -2xY
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42. Subtract : -5m2 - 3n2 + 4mn from 5n2 + 3m2 - mn

a) 8m2 + 8n2 - Smn b) 3m2 - 2n2

c) 2n2 - 3m2 d) O

43. lf p : -10 then the value of p, - p + p. + 3 will be ?

qffr p : -10 A p'- p + p3 + 3 EFT ETFT dtn ?

a) 887 b) -887 cl 787 d) 878

44. Write the coefficient of x in following expression

-12xy2z + 25y - 5 { xtFI {uri+. {rf, qn} I

a) 25 b) -5 c) -12y22 d) -12

45. Solvethefollowingequation:4 + 6(x-1) + 4:32
irr+rfr {r+s{ur +} Ee *rt :

a) x:7 b)x:6 c)x:5 d)x:10
46. Raju's father age is 5 years more than three times Raju's age. Find Raju's

age, if his father is 44 years old.

{Ft + fudr st BE, {r{ +t sq + +r U{r + 5 Hrta qFr+. + | fr ss+
lqar +t cs 44 .qrfr d * ttq +1 se are qr} ,r

a) 13 years (t3 qd) b) 39 years (rs qd)

c) 15 years (t5 qd) d) 21 years (2t q{)

47. sorve , qll _ 3
o

s'T+rfi TrreT s+{rrq +} re +t ?

2331a) 5 ot, .ti ,ot,

48. Find the product of (-4) x {-5} x l-21 x (-1)

{uFTtn.d fltiT zF,t I l-4l x (-5} x (-2) x (-1)

a) 40 b) -4o "i zo d) -12
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49. For any integer 'a' find the value of a + 1

fr;s {qi-+. a + laq a + 1 sT qrt drn

a)0b)1cla
d) Not defined (are =rtT f+-qr qr v+'ar *)

:'
SO. Evatuate : (_31) * t(_3O) + (-1)I

Bq+r6 =rT ITFT f,rfr st :

a) -1 b)1 c) O

Find the value of x in given figure :

A ,r{ €HIqfr { x Eil rrrt Vrc qt :

51.

a) 7Oo

c) 18Oo

b) 1 troo

d) 900

52. Find the angle which is equal to its complement ?

?

450

,l-t-

b) 7120,580
d) 900, 1 100

d) 31

{6 stur ilrfr s+ + srq+ dE$fi +i"r + qrw{ d
goo b) 1 goo 1 200

53. lf tines 1., I I l, then
qfr M t, llt, Ei + :

a) z1: zG 
:

b) 14 ! 26' = 90"
c) z3 + z5:1800
d) z5-22 = Z6

54. ldentity which of the following angles are linear pair ?

FTffiT { + sh HT grq Hq ftt"r + ?

55.

a) 12Oo, 60o

cl 55o,115o

Find the area of a circle whose radius is 7Om

7om Fqr erd qa qr qiasdt. {til st I

b) 154OOm' c) 154oocm'z

Set II

a) 145OOm2
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56. Find the perimeter of a square whose area is 121 m2'

121 m2 qiTq-m qre qtf s'r qfiiqrq f,rfr s't :

a) 66m b) 44m c)11m d) 44m2

57 . Find the area of a parallelogram whose base is 14 cm and height is 8 cm'I

I

I

't

ffi {FIt<rc qqrtq sT sITtIR 14 cm qq 8 cm gqr{ + A stFF'T *d.5.f,

f,rfr sltqq

a) 28 cm2 b) 11 2cm2 c) 56m2 d) 1 18 cm2

58. lf all three sides of a triangle are equal, the triangle is called -

59. The total measure'of the three angles of a triangle is

ffi f*rq + ffi sM sl +rr Etff +

a) 1 8Oo b) 12Oo

60. Find the value of x in given figure :

A ,r{ 3ilqfr { x ET q;T rrfr frlfsnq :

b) goo

d) 650

a) lsosceles triangle

c) Equilateal triangle

qk ffi fuEq +t ffi Eqr{ ERIE1

a) ffirqrg fu,
c) H{qrg tarfq

a) 600

c)) 4oo

b) Scalene triangle

d) None of these

A + B5.q *.ffit +-

b) tqqrqr€ frtu.q

d) qq{ + s,t{ ftT

c) 9Oo d) 360o
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ffifud.q{dE + F+m s{d + Ert t :-

+ snr+ ril<T-trdT * qrcr qqft qri rr+r r qF-t<r rq rtr.€T +t qrfi sq{r
+ +q * gw G + r arl tqr lF {dr TCd + a sHq * ae yrncfr

EETfr qq G + r * E+ +r +slT st qrcrrEt q srT qrft EiEn si
?aFraG q rtQ* sIIEIIst+,(+, e+fr srrEilcTdqnssqrzfr{ {F+
H,r* * I €ryq65 v{ fgq+ t qtr, 'ftq s;q-qpr1 d, +<r rsrrvr d t"
qs qfi srrEflEr qr$ { ErR-ErR {Sr+ drft r qr* Wr d G + r tt ffi
+ B€ rqrc d srrgpql, 'tt ! qrft sqH drft, a+ fr sftilqfr Ehft I ErT
zrdr €{rr( +{-+( + sa+ - $Frcffir srrrl *terT *-(, qq+} \ffisT t + T&
sfuqfr Etrfr r 6Er *qr srq +-r+ *, qr+'r +sr fr qfurnq wt +r rt er
irfi +a ernr t +r Ed sfr l6srE * gq ?Tr Eq tdr + r" ir.ssi +
Frf,rA +t erc +i gtr €fu s€ trqqn flwr I

6r. *E* EFl EFTI srd + ?

a) qzl b) IFT c) d* d) qr{

YKR+ {-+ qqrq E} ffqr € + ?

1x5=5

62.

a) E+rr + ftTq

c) EIH sr+ + ft{q

b) rr+r$r + kq
d) vq{ + st{ reT

63.

u.

il.s+ verrrvr e+ qrqrq errrrErT S Wr eT + ?

a) qd * qEqr A+ + EFrruT b) yrrce H(FT A+ + EFKUT

c) i vq+T {rer=rwr qr6+ + d) s.r{ffi HS ++, *

fuff* + Td +i wr qlrsm ?

a) Eft qr+ q qd b) eld qrd +,d
c) qqr H+), *sr qa dm d) Etr{ + rtil
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ffi.

67. H qrril { fl+q sq { rlrtril srq * ?

rrqivr +l +itvr +qr t ?

a) Et m qflt"nq Er
c) +qT q't+ +qr $rtt

6{ k{€ EFG1 q;Ipn qrar * ?

a) 26 q{qt +t
c) t5 31rna +i

al qfl6r fufr

c) fl+{rrrft &fr

b) rdr{ ql qfi5osq q61

d) Eo r Eqs sr} rd

b) 14 fufrgil d
d) 6T{qt

d) ffiryNI

b) trr{ fldfr

d) v,rt* ldfr

c)sd)7

68.

a) {rq{rqr b) E+dFqNr c) {lET$IIttt

H .nqr +t f,afr +'r qrq kfisq I

6s. slr<r { FqlFrfi'dt+ qr+ qr* qrqr +tt S +
a) H b) si*+

70.

71.

srrfrr+k+.iE+ ?

b)4

?

titq.d
t

c) d)

a) 3

5ffifi + sileFT = SWfirArq ,{ rgffr rfrr qT qrq ftrfuq I

a) afq4 gp, b) rryq ffir
c) M {tu d) strdTn H* *s' *

ttql€q rrTrs *T +tt rTI rrE stlFt tdt * ?

a) Td.r( b) srt ErE c) Hsr<r trE d) sqs flqr6

13. \Trq-89{ fl+,s FITRT *'r sqrtwr * ?

72.

a) fu uerc
c) s{qftmq ':rrrtrff

b) Fe srlrs
d) +'+{r€ TrrTrs

SetII. Vlll - Proficiency Test - (111



tr
74. ffi EIFirer, ErF([, Tsrrq, qrq +;TFT EFT *q qETr+ erd Yr< +qr *eerfr *l

a) rd{rq b) dflr c) Hqq d) fr-qT

75. hgdrt' W< t+'IT rfm qr Yqftwr * ?

a) qkcqrq6F, b) qrfuqrqs. c) $ilErlrq.F' d) HT6qtr$'

76. HquT + ffi yt5p d+ * ?

a) qrt b) +{ c) A d) E6

77. flx.qT +t Hq-{r qarcr *, Er6 twrr qenar * ?

a) Hqr b) ffiqq
c) fr-qr d) Brdffi qrfr +fi +

78. EileFilEreF ffi+wT +r uqrdpr g+
a) qO s*n ,rqr t b) .f.sr -ftt-*frt qeor *
c) qa srrft rilqr + d) qa dsr +ffir +

7s. +'d + snqR y( fuqr * mc+ +( + ?

a) w' b) A c) +{ d) qR

80. f + rilfr rnqf er+rr { rgrf, flffiqr qrr +( funsq-
a) €r+'4fi f*.'qT b) F+.dq^ l*.qT

c) +(Urr+s. fs,qr d) riTrd l*.qr

81. fuqT + fuq sq t ffi +Tq * Et+ + Hrrq +,r *er d qo Esrcncr

*l
a) ffiqq b) flm-qr c) EFreT 6y q+{rrr

82. Tsqrt +f, { EFr wlr 16r + r' qrw { y{Ird kqr E6T EFtFr rdEq I

a) T$ffi EileT b) qFqq( EFrEr

c) Tilsriil d) P*qrottr

E3. r+<r * srTrrr q( qrfr * y+'n ff,fisq I

a) A b) *T c) qrt d) srrE
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84. F yd lwn + k+.f,frr + r' sTd + eiltrr rR qwq +'r vfiK 3.+ r

a) fuilTqrrfi b) rittqrd+,

d) {'+ilqtqnc) {€r.T
8s. er+q *-

a) .r<T *1 qqfurfr HII6 b) Hrpf+. r<T q,r qqfurfr sTA

c) fud*. rq} HT {r{6 d) sr{ffi q,+ ++. +

86. 15(q er+q g+

a) w' F+er qr+ + .r<r qrS b) +a ql+ + .lr rd
c) qr+ + * g+' +dr are+ d) qrft er*< ervf*r t I

87. \Iq+ 6rdqt EIIFIT w< gfrq I

a) srr+ffi b) flq:rqr c) BwFreT d) trFFrvT

88. \I*T er-qq g+

a) rrq i ilqr Erq
c) {rq qiatt q_6FTr

b) nq t qqT +i Wrqr

d) *TTqltwrqr
8e. 'silE6'RT qr{f 5a-+t +l er{ fldfuq I

a) silErr$ *i q<r b) <qa d-qr +{r
c) qgfi qtrrn d) qFr{-d erd q,qr

e0. 'strftyq' qr6+ qrA s) Tgfr sq inf + ff,q g6rflr g+ :-
a) Etrr E€fi s,rr qr{ b} B=+q-+s q.r €}tilr

c) Se + t6 .{ .fu d} q+, Frs.S t t*.qr
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91. The example of man made environment is ....
a) Plants b) Animals c) lndustries d) Birds

q1qq ftfrfr rrrrfT{rur s'r sElr€R-rrr *
a) q-s +E b) qq c) sdrr d) qqfr

92. Bengal Tiger is found in ...
a) Mountainous area b) Delta area c) Amazon d) Kaziranga

ETTIIET Zr{rR ET rn-.t ET|tT E I

a) T6r.S qtd b) +€r et{ c) er*fi d} srsft$n

93. Kathakali is the classical dance of ... ... state

a) Orissa b) Tamil Nadu c) Kerela d) Manipur

*-en+* {reT EFT Yn*q Ts + |

a) e.Ssr b) dF{FffiE c) +(m d) qFrg{

94. ln Hindu mythology, who is the God of death ?

a) lndra b) Saraswati c) Yama d) Brahma

tr q.q6p1 4 qg{K EI H'r isnr +tt + ?

95.

a) V< b) {Rrre c) qET d} ilen
.l

..... is not an example of Print media.

a) Newspaper b) Magazines c) Radio d) Story books

oQ ge EmrrrT tFT sqrotor ftT + |

a) uqrqr e:t b) ffi
c) tH d) q,6r+ +t ffi

96. Giving name to product is known as

a) Giving Advertisement b) Branding

c) Speciality d) None.of these
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97. Government control over the media is known as '

TiwI s'r qrq aar

a) flTf,rqr tqT

a) CensorshiP

c) EmergencY

gGrR 6'r *Bqr q( Frq?rur

b) lndePendence

:] H'T':

98.

99.

a) ffiyrq b) ffiiTff 6) erFIItltFl"T d)Etif + st{ Tfi
'l

Who is the head of Distt Administration ?

a) D. c. b) s. P. c)' A.D:M. d) s.D.M.

firmr vvrr+r=r +-r {Fsqr st{ *dr + ?

a) s. s. b) w. fr. c) q. $. w. d) w. S. w'

ln lndia the head of the state is the

a) Chief Minister b) Prime Minister

c) Member of Parliament d) Governor

rrrrc { {reT EF1 $g.qr

a) 5qtr* b)

Eidr + l'

1 00. which of the following is a function of the Panchayat ?

a) Construction of wells b) Repair of street lights

c) Ensuring supply of clean drinking water d) All of the abve

frr,affiG{+rfqrqn*wr*'r{* ?

a) EsrT 51 fiffi1 ry{ ffiE'rFi$I
sq(ltrfr Hqr

strtq{+ c} tis( EFT rrEer {Fqqrmd)

.b)

S€t II

c) ++ + sq. ffi +t qeem d)


